PRESENT PERFECT

PART 2 > ADVERBS
EVER / NEVER STILL / YET
JUST / ALREADY FOR / SINCE

They She ' _gone
jumped the rope for a walk since
for 40 minutes. pandemic started.




Verbs
(Regular & Irregular)




Description

Present Perfect Simple e :

Exercise 1

PRESENT PERFECT SIMPLE

[AFFIRMATIVE] [NEGATIVE] [INTERROGATIVE]
S + have/has + S + have/has + not + Have/Has+ S +
verb past participle + C verb past part + C verb past part + C ?

have not = haven't
has not = hasn’t

/
1. Lou and me

2. My sister
3. They
__

5. Has it

Complete the sentences: 2 in affirmative form, 2 in negative form, ar
using Present Perfect Simple.




Present Perfect Simple (Adverbs) HNEIZEE

NOTES:

f PRESENT PERFECT (BRITISH ENGLISH) SIMPLE PAST (AMERICAN ENGLISH)
E.g. Watch out! You have just broken the mug. E.g. Watch out! You just broke the
mug.
1. He has been in a competition. 12. Would you like to go to the restaurant?
2. He hasn't finished cooking. Thanks, but we've eaten. /
3. She hasn’t bought the house . 13. Has he practiced English? /
4. Ey girl! You have answered your exam. 14. We have been to Mexico.
5. She has payed her bills. 15. She hasn’t called her mom.
6. Haven't you completed the survey ? 16. You have drank the milkshake
7. We haven't eaten. 17. Has he travelled abroad?
8. Have you swun in the ocean? 18. Have you spoken Italian?
9. I haven't learnt it . 19. She has d ////
10.It has slept on its little bed. 20. /
11.We have been to Paris.

Complete the sentences, using Present Perfect and never, ever, still
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Present Perfect Simple (Adverbs)

—

Tell us a story about you related to HOBBIES, using Present Per /



Present Perfect Simple (Adverbs)

Ever/Never NOTES:
Adverbs Still / Yet PRESENT PERFECT (BRITISH ENGLISH) SIMPLE PAST (AMERICAN ENGLISH)

Just / Already E.g. Watch out! You have just broken the mug. E.g. Watch out! You just broke the mug.

PRESENT PERFECT SIMPLE
[AFFIRMATIVE] [NEGATIVE] [INTERROGATIVE]
S + have/has + S + have/has + not + Have/Has+ S +
verb past participle + C verb past part + C verb past part + C ?

have not = haven't
has not = hasn't






